PD-187 CV-19

M.Com (First Semester)
Examination, Dec.-2020
Paper-
Name/Title of Paper: Advanced Accounting [Maximum Marks : 80
Time :Three Hours) [Minimum Pass Marks :

e T avsl @ Pdwgar sar AR g @ of 8 e o sifda §

Nate : Answer from both the Sections as directed. The figures in the right-hand margin indicate marks.

WUs— 3/ Section-A
1. frfafe afy TgsciE el & IR dIfag — 1%10=10

Answer the following very short-answer type questions in one sentence :-

(a) §o & forg T =1 & forg ot & W wRef @ w0 A et ey 9 m w e
o B sfde T @rar €
In case of issue of debentures as a collateral security for lone from bank which account will be
debited?

(b) BV f5d 14 afell & g Fim R a9 &1 5w @ & sfafa fa smar &
In which account the profit on reissue of forfeited shares is transferred?

(c) waf AR 2013 & fPa g o face o1 wew Ry wrm &7
In which schedule of companies act 2013 proforma of balance sheet is give?

(d) v ®u A fawig fawer # sranfad @t @ @t R war 87
Where the unclaimed devilend is show in financial statements of a company?

(e) UHIHROT WA W B gXAT< S DI YIadl § A A &1 @ w3 & forg
STl WTar 87
Amalgamation adjustment account is opened in book of transferee company for incorporation
of which item?

) i @ @ sfolaa & & ugErg Yol aeil @ @ Hise ¥ g 99 afdr & g
G H gEand far orar 8?2

Credit balance of capital reduction account writing off visions loss is transferred to which account?

(g) afe 7Pt %, 14688 € T2 5 Wi @ W H 3 T @ foU F. 03672 D QD! & THH T 1 2 @ @fa &
el gy |
If super profit is ®. 14688 and the present value of ®. 0.3672 annuity for 3 year @ 5% return is %. 1 find out
goodwill,
(h) szl & waRe Teaf @1 o 9 Al g 91 o 87
Intrinsic value of share is calculated by which method?
() @ @ AT A BEATE YR B T B @ SR DY PET W 2 |
At the time of commencement of liquidation proceedings shareholders of the Company are know as =-ee==----
() Al T ogerg T € O SRVI9T SRGT B ... TR T@ w1 S TE@ WA
If a company is not solvent, the debentureholders shall be paid interest up to the date of -—---——--
WUs—d / Section-B
2. =g dgscRd el & Iar ST 2x5=10
Answer the following short-answer type questions:-
a W G o Geh wwa # a7 afeR forfy |
Write the two difference between reserve capital and capital reserve.
b. wfig #R TRRg 9 wiffra o wufy @ gk 87
What are deferred tan liabilities deferred tan assets?
c. a0 & WT & URIeT B IaTad dr B felvag |
Write the essential conditions of amalgamation in the nature of merger.
d. U HHA @R F S B qeuied $ aTaadd & g 87

When dose the need arise for valuation of goodwill in case of Company?

e. A © ARt AU A uRfRefaat @ ferfdeg

Write the circumstances of compulsorily liquidation Company.




Yrs-¥ / Section-C

dre— frrferfiian < I ueAl @ Sar Ifog— 12x6=60
Answer the following long answer type questions:-

§§!'§‘ / Unit-T
w1 fI . 10 dTel 20,000 FHW JW B 10 TR WM W affeE & v g ufdgwer frifag
Y Y 39 PR ¥ 9 AEET W W, 3, o¥ed W . 5 (Mg wfta) R 9w A w39 feite @
ferq 22 A1 e febar wrar| 20 ofe | T B oMAEA THAI (@ 10,000 W B) A FR A M
10,000 %M @ U@ ofMda &I 2000 37 & M| A9 e g mEfed fFd | snfde ofdr &) el
® e B A ad e AT T 600 vl P sivmmdl amded AR @ PO TR F ot W€ 900
et @ e AT A BT W T F orgmed @) ol © qwaet | smawge uw-ufated i)
Raghav Ltd. issued a prospectus with the object of inviting applications for 20,000 equity shares of %.10 each
at a premium of 10% payable as %.3 an application, ¥. 5 allotment (Including Premium) and the balance an
call the issue was subscribe to the entent of 2% time Application for shares below 20 (10,000 Shares in total)

wern rejected. An applicant of 10,000 shares was give 2000 shares. The remaining shares were made pro-rata
allotment. The encess amount to the entent of shares value was retained shareholders holding 600 shares faited
to pay the allotment money. Sharcholders holding 900 shares failed to pay call money. Show necessary
journal entries in the books of the company.
AT/ OR
O 9F Yl 27 HKOMA B wee @1 A= At & deg ¥ ey
What is debenture? Explain the various methods of redemption of debenture in brief.
FOTE / Unit-11
4. o ped fAffRE &1 31 A 2016 B AW @ ad af & forv @ — =iy fAawer ey
T f4as H wuu U9 ot dide d Rarh om a6l aw — a1y @& g ofer af o
IS | fawer FaaR 8— v (1 e 2015) . 90,000, 999 . 17400, AWIgY &, 101838
URME B &, 6000 FATY B 20202 ¥ UG T WIGT ®. 15738 STTEA U . 2532 HATAD
Yo B 6870 BY W 222000 WUUAI WX WG . 10800 AT W Wi &S . 9600
aM-gI fagwor (@fee M) %, 17400 fAea %, 498000 ereem o1 & o amgiod (1 anid
2015) ¥, 4200, 12% ZRYGS 180000 Wd- %. 360000 ¥R . 396000 MRS TN H. 45000
GlER W 8640 TUTRE U . 104400, 8% FAFRIT % 240,000 RN (1) oW W o7
o %, 234000 APT TAT| (2) WA UR 5% FEIF OX 25% WA UR 10% ST9erdvl emsd | (3)
URME g B L 9T W SuferRad fhar @ 21 (4) @miRe R w) e ® @ Y 5%
aﬂa‘\fﬁan?ﬂm—rrﬂ?rﬁml (5) &3l & U . 28584 FT AT HTAT | (6) . 15000 BT HIeT &I
faeea @ audt & sMuR 9¢ yiEel $1 W Tar o, gy ¥ ©. 20000 W WA @R ferar ww
o1, 39 Rl 1 Y 3 forg gwost § o918 o 78w T
Prepare statement of profit and loss and calculate net amount of profit and loss to be shown in
Balance sheet under the heading’ Reserve and surplus of Rajesh Traders Limited for the year ending
31 march 2016. particulars are as under.
Inventories (1% April 2015 ) ;- 90,000, Salary :- 17400, wares :- 101838 Preliminary Expenses :~ 6000, General
expenses (- 20202, Rail and carrier :- 15738 Bad debtes :- 2332, Director Fees :- 6870, Purchase :- 222000, interest
and debentures. Rupees 10800, interest received investment rupees 9600 statement of the profit and loss (surplus) 17400,
Sales Rs. 498000, Bad debts Provision (1 April 2013) :- 4200, 12% Debentures :- 180000, building Rs. 360000,
Machine :- 396000, Interim divined :- 45000, Furniture :- 8640, Trade Receivable :- 104400, §% Investment :- 240000
Adjustments (i) Closing investment was valued at :- 234000, (I) Provide depreciation at 5% on Building, 25% on

Machinery, and 10% on fumiture. {111} Preliminary expenses are to be written by % (IV) ) Provide 5% on trade

recetvable for doubtful debts. (V) Provide ;- 28584 For taxation . (VI) Goods worth :- 15000 sent an sale ‘or”® return

basis to customer have been treated as sale in the books at a price of :- 20000. No adjustment enter has been passed to
rectify the position.

T/ or




AT FARFET 2013 B IATAR TH FN & USS BT AT SIY T Gl G e @
HeIU H SRAT BT |

Give a specimen form of Balance sheet of company according to companies act, 2013 and explain each main

head in brief.
978 / Unit-111
FIRE g g7 3R §7 39 RN &7 05y W9 afve gafateT e 8 | § )
o Golt # aRads @ fafE @ e
What is meant by internal reconstruction? Give condition when internal reconstruction becomes desirable. Explain the
methods of alternation of share capital.

a1/ Or
T 31 A€, 2014 B 3wt foafices g gy Riftee @ g (Rufa—faaw) fa ST &
Alpha ltd. Beta Ltd.
ferawor feooft | | wifer R
[- 9T Od qTed . .
1, IETRET FT By
. 3 oIl 8,00,000 5,00,000
. 9y Uq ARG 36,000 2,04,000
2. 391 ATIEH Y &S Afed Nil Nil
A Sl I1\11914 000 T5\h716 000
4. 9], S 2ING <A (a:'_:‘ﬂ 10,30,000 12,80,000
11- 3T (Fvafean)
1. R =], wfecrat
& ?_fﬁ (Wﬁ ﬁ) w 4,00,000 5,00,000
. e, Ta 50,000 1,40,000
2. el wHfeaar
XD 3,00,000 2,50,000
f‘ mfa qaéfs. ;T%(Wé ) 2,40,000 3,20,000
- ‘ . 40,000 70,000
10,30,000 12,80,000
ohan gae ey
Alpha Itd. Beta Ltd,
ez IR wfdr
1. &9 golr w. w.
..................... HHT 3791 %. 100 Wiy ofer 8,00,000 5,00,000
8,00,000 5,00,000
2. 9497 vd IrfeNa
HHAT H=d 36,000 2,04,000
36,000 2,04,000
3. fv—are, Rfrair - 1,40,000
800 FHAT 9T aewr for, o 50,000 —
500 THaT 79T faer &1, # 50,000 1,40,000
4. YIHg UG XPhs oI 40,000 70,000
4% ¥ Ape 40,000 70,000
U g BT i T fEfETS @ w1 e 2014 B SWad ST wrfal @ it
(s wfed g RAFERT $1 Bled ) @ @l & o @ forg & 7 W w=afy g 5 o fafcs

W




T FEE S Rl guikagt B $9e MfeiRed qedl § 25 Uiiwd fSe oR qun FF FEial @
SHERl I AT HUIT g 5 Urowd T @

ol fAffcs o1 Rf § o au e i 16w vwa fAfde 1eg & o0 wftwe w foram @
TAT FMRIE R B IqS YRS od TR 39 IN™ & 91 forar 1371 i ey & =1fdw 2 +.
24000 T TR YT 91T I |

die] fafice @) Rt 7 v & 99s e a1 110 uftea wr fomar a7 qen oHsRt &1 %.
12000 & U T B BIedY S99 TRIGT Jod WX forar a1, fodst ga™ &1 3d B1E smavasar &
THS TME |

T s = arowT fifics & MRe @1 . 100 9 qof &1 8000 HHaT 8fer den fer fafies &
e 1 7000 WA 39 . 100 Ui & qf g fffi 59| 9w @g wiwer e g | T
forfide @1 4oiad &F %. 20000 BT |

T s @ o A Sudad HeER (AFT FasR Higa) 3 yfafedl Y ae sy &
Tyd 9G] AEw fHger (Refa faavon) dar s |

The following are the Balance sheets of Alpha Litd. And Beta Litd. As on 31* March 2014:

Particulars Note No. | Amount Amount
[- Equity and Liabilities . ¥,
1- Shareholders funds:
a- share Capital 1 8,00,000 5,00,000
b- Reserves and Surplus 2 36,000 2,04,000
2- Share Application money pending allotmen Nil Nil
3- Non-Current Liabilities - -
4- Current Liabilities: 1,94,000 3,76,000
Trade Payables (Creditors) 10,30,000 12,80,000
Total
- Assets
1- Non-current Assets:
a- Fixed assets 3 400,000 5,00,000
b- Non-current investments 50,000 140,000
2- Current Assets:
a- Inventory {Stock) 3,00,000 2,50,000
b- Trade Receivables (Debtors) 4 240,000 3,20,000
¢- Cash and cash equivalents 40,000 70,000
Total 10,30,000 12,80,000
Note to Accounts
Alpha ltd. Beta Ltd.
Particulars Amount Amount

1. Share capital o, .
--------------------- Equity shares of Rs. 100 each 8.00,000 5,00,000

8,00,000 5,00,000
2-Reserves and surplus:
General Reserve 36,000 2,04,000

36,000 2,04,000
3- Non-current investments: — 1,40,000
800 shares of Alpha Ltd. 50,000 —
500 shares of Beta Ltd. 50,000 1,40,000
4- Cash and Cash Equivalent: 40,000 70,000

Cash at Bank 40,000 70,000
£q




A new company Viz., * Gama’ Limited was formed to take over the assets (including cash but excluding investments) and
liabilities of both the companies effective from 1* April 2014, It was agreed that Gama Limited will take over fixed assets
of both companies (@ 25% above the written down value and the debtors of both the companies subject to a provision for
bad debts at 5%.

In the case of Alpha Limited is was further agreed that the stock shall be taken over at 90% of the stated value and
the creditors at book value subject to an additional provision for saies tax liability of Rs, 24000,

In the case of Beta Ltd. the stock was agreed to be taken over at 110% of the stated value and the creditors at book
value except a liability of Rs. 12000 which was considered no longer required.

Gama Lid. issued 8000 equity shares of Rs. 100 each fully paid-up the liquidator of Alpha Ltd. and 7000 equity
shares of Rs. 100 each fully paid-up to the liquidator of Beta Ltd. Balance consideration was paid by cash. Registration
expenses of Gama Ltd. was Rs. 20000.

Journalise the above Transactions (Including for cash) in the book of Gama Ltd. and prepare its summarised
balance sheet afier the amalgamation is put through,

918 / Unit-1V

6. VAT SHTYY H b B P oM ganw & | Faad a9 a9 o T 1w vam # 9o aw
2, O IdT 9T9IR 459 %, 200000 T §9 A9 @7 BT ®. 1000 WioHg 21 31 =5 2000 9 g fewmEn
A . 800 YRTHIE o | UG 7 U DA PT WA of Y&l & | SHDT 31 A 2010 95 . 500 YICHIE T
THd e ®. 600 Ul T far S o7 | fINmn, d99 Td BN U @aur @ Td 9 aut & o
e 9pR - 2011—12 . 80000 , 2010—11 /. 70000, 2009—10 %, 75000, 2008—09 ¥ 60000 TAT 2007—08
. 65000 Wa BT HI[GTh SNTd IURGT AIHd BT WIEAT e & | 98 Wd (P [Ovs BfRe ? o S
ST gN Fge BfiRe @Y aTawaddl 81 &1 a AR sfied aed ¥ e el @ ug W)
BT HY V6T € AT B, 1500 UOHTE I WKl H¥ W& B | ATHY 40 Ufawrd o ST I W g T
{3 are 5@ 60 URTTT B @7 WTEAT € | aa @ &g fafaird oot . 280000 21

g8 7 8¢ & oftad fafaford gof o) weomg Y sX 10 wferd aifte € aftemdi & 3 aof & 39 &
BN T & qod AT DY | IURIaT FIAR bl WAEH B q1§ T Bl 399 9 & AN 93 T 81T |

Jayant Runs a shop of chemist in Jabalpur. The Business is being carried an in a rented building taken from Jagat. The
market value of building is Rs. 200000 and the rent of this building is Rs. 1000 per month. It was only Rs. 800 per month
up to 31" March 2009. Jayant has also engaged services of a chemist. He has been paid @ Rs. 500 Per month up to
317 march 2010 and there after @ Rs. 600 per month. The profit of the business after charging rent salary and tax were as
follows for the past five years:

2011-12 Rs. 80000, 2010-11 Rs.70000, 2002-10 Rs. 75000, 2008-09 Rs. 60000, 2007-08 Rs. 65000

Jagat the landlord of the building wants to purchase the above business. He is himself an expert chemist and as
such will not need the services of the chemist appointed by Jayant. Jagat has been working as chemical engineer in shri
Ram Chemical Woks and has been drawing a salary of Rs. 1500 per month. The income tax paid for has been at the
average rate of 40% but it is [ikely to be 30% from on wards. The average capital employed of business is Rs. 280000

Calculate the amount of goodwill on the basis of 3 years parches of super profits. Assuming that the normal rate of
return on average capital employed is 10% per annum. Mr. Jagat will have to resign from his present post.

34T/ Or
el & i W AW 4T AT 87 3 B qeaie ) At et o1 Seexw wfta avi= St
What do you understand by valuation of shares? Discuss and illustrate the different methods of valuation of shares.
618/ Unit-V
7. 1 RideR 2017 1 X ) fafies &1 tftes 9A9= gen | fr=fafaa gamen 3 afwmnas @1
sifem faeRor @rar 99154
qq= &, 150000, HIRI . 165000, WA . 140000, TEOAT %. 160000, FYMRE WRT . 180000,

RIS 9 s TSI 14500 | S7¥ Yol . 10 ITel 29500 WHAT ¥ %, 295000, T IER ¥ WX

%. 130000 HTHIRI BT FHIAT 16 ATE HT . 80000 FHANRGT DI ThIAT I NS 8 HE BT &, 100000

ST e @RET oFeR ® fawia T ®. 55000 |fed) ©. 135000, BT SR BT o7 AR .

10000 FwR® o HwfeEl ¥ ¥, 560000 (e @ BIEPY fB] 799 W 135000 WARd) a9t b |

GRYFHTTS @ %, 10500 §X |

e 1 T Ud e JFer B A @ T A @ 6 gioerd e siwenlal @ gerd T8

RIf &1 2 YR HHEE A 97 §al 2|

X Co. Ltd. went in to voluntary liquidation on 1" September 2017. From the following information prepare
liquidator’s final statement of account:

M




Building Rs. 150000 Machinery Rs. 165000, Goodwill Rs. 140000, Inventories Rs. 160000. Trade receivable
Rs. 180000, Cash and cash equivalents Rs. 14500.

Share capital 29500 equity shares of Rs.10 each Rs.295000, Secured creditors on buiiding Rs.130000
Workmen’s dues for 16 months Rs.80000, Employee’s dues for 8 months Rs.100000 unsecured creditors
(including financial debts Rs.55000 owed to unsecured creditors) Rs. 135000 amount due to central government
Rs.10000.

The liquidator realised Rs.560000 from assets (including cash but including Rs. 135000 from building) the
expenses of liquidation came to Rs. 10500,

The liquidator’s remuneration was find commission as on the amount paid to secured and unsecured
creditors and 2% commission on the amount distributed to share holders.

3rerar / Or
T ] @ YA B AR At @1 daw § gofy S wer awee @ aRvmEt Bt gy

Describe in brief the different modes of liquidation of a company and state its consequences.



